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2.1
2.2
2.3

3.1
3.2

4.1
4.2
4.3



1-1

1-1

As

5.3.1

S,

S



@
2 8
50.0m>< 19.75m> 70.0m
@
a.
2-1
50000
300, 4900 4800 4800 4800 4800 4800 4800 4900
120( 20| 20( 20f 1201 20| 20| 120 20|
- —
1
,%7
4900 4800 4800 4800 4800 4800 4800 4900
500 1200 1200 1200 1200 1200 1200 1200 150(
! 50000
2-1
b.
2-2
A A
cm cm? cm?
1 120 D19@100 28.65 D16@500  Ss=200 3.97
2 150 D16@100 19.86 D16@500  Ss=200 3.97
3 150 D25@100 50.67 D25@500  Ss=200 10.13
4 120 D19@100 28.65 D16@500 Ss=200 3.97
5 120 D22@100 38.71 D16@500  Ss=200 3.97
6 120 D25@100 50.67 D16@500  Ss=200 3.97
7 100 D19@100 28.65 D16@500  Ss=200 3.97
8 100 D16@100 19.86 D16@500 Ss=200 3.97
9 150 D29@100 64.24 D25@500  Ss=200 10.13

2-2

c 10cm
1

c 10cm
1

mm

100 150cm

D=



2-1
2-1
ok 24 N/mm?
E. 25 kN/mm?
f | 345 N/mm?
2 SD345 'y | 345 N/mm?
E, 200 kN/mm?
1 JISA5308
2 JISG3112
®
a.
2-3 E.L+5.0m E.L 15.0m
b.
E.L=0.0m E.L=0.0m
+5.0m
?+ -0n
—1%.Qm
2-3
C.
2-4 G/Gy—-y h-y 2-5
60
1
1
5.2.3(4)



S
\% A% Vs Go ho
5.0m (KN/m®) (m/sec) (kN/m?) (%)
V/SANAN
18.0 0.40 300 165,000 20
V =+ 0.0m
200 0.48 300 184,000 2.0
15.0m
20.0 0.33 700 1,000,000 20
35.0m
2-4
1.0 ® ] 0.30
™ . l O ]
© 0.8 [m] 0.25
<
(&) ] [m] 020 =
0.6
0.15
0.4 ]
0.10
0.2 [} L 0.05
| ]
a ]
0.0 U m] [m] Eﬂ ‘ ® .00
0.000001 0.00001 0.0001 0.001 0.01 0.1
Y
2-5 G/G, Y h vy
®
a.
2-6
1/2 4.2.3(3)
:600(gal) :-600(gal)
600
400t l l M
S a0t
0 JH\IN\LH ||} ” h qumh” |‘\ : | \'l, y‘ i, hMLH ‘ m'ﬂ” r ‘wnw‘ |L“h” TpLT—
w00 w HF H’\ HW[”“ T
-400 ©
o0 10 2
(sec)
2-6
b.
10kN/m?



3-1 5.1.2

START

v
v
v
NO
YES
v
>
YES
END



3.1

@
5.3.2(1)b.
5.3.2(1)d.
1/5
3-2 5.3.3(2)a.
S 5 50.0m w 48.5m " 50.0m o
ok }P T T 1‘447
Y |—
V%‘ \
£ \ |
S \ |—
g i \
| |
\ \
3-2
@
Ko
4.3.2 Ko
Ko 0.5 0.33 4.2.3(1)e.

Yw 7/sat_1 7 sat



®

®
1/2
S 5.3.2(6)
4.2.3
3.2
@
5.1.1(4) 5 5.3.2(6)
3-3
CE)_ _ 50.0m o 48.5m w 50.0m
%[\ T T
£
<
o
<
3-3
2
3
1
p:E'Kh'}’W'B p Kn Vw B
1
p:E'Kv'yw'H p Ky Yw H
5.3.2(4)



@

2-4
2-5
Ramberg-0sgood R-0 3-4
a,p 5.2.1 5.2.3
2-6 3-5
3.8x10 @
3-6(a) V¢ R-0 GIG, vy
a R-0 h y Yij
° @ 3-6(h)
V¢ T ¥ R-0
R-0
3-1
T . Goy
//Go = 7
1.0+ al—
G [ 7t
AR yy=7¢1G,
Vy
0] ¥ Yt Y B= e
2(1-G/G,)—7h
3-4 R-0
(m) 0.0 200.0 400.0 600.0 800.0 (gal) 0.00 1.00 2.00 3.00 4.00 (cm) 0.00
0.0 71— 0.0 0.0 0.0
_
5.0—|— 5.0 5.0 5.0
10.0 10.0 / 10.0 10.0 1
. 12,5 12.5 12.5 1
oo -
. 17.5 17.5 17.5 —‘
20.0 | — n 20.0 / 20.0 / 20.0
N 9
25.0 - 25.0 / 25.0 / 25.0
N 10
T 11
35.0 = 35.0 35.0 35.0
N 12
40.0— — 40.0 40.0 40.0
™ =769(gal) =380(gal) ™ =3.97(cm) =0.00(cm) - =0.380(%) =0.013(%)

3-5




1.0 0.30
g 0.8 0.25
2 0.20 <
0.6
0.15
0.4
0.10
(=P 0.056 w®mO
0.0 G 1 0.00 R-0
0.000001  0.00001 0.0001 0.001 0.01 0.1 A
v 1
Vi = 3.8%<107°
@066 v h vy
200 ;
!
N |
S 150 |
F 100 b
‘-/ i
50 |
i ’R-O
0 ‘ ‘ i y
0.000 0.001 0.002 0.003 0.004 0.005
Y |
e me--
—_— R0 Vi = 3.8%<10°
T vy
3-6 R-0
3-1 R-0
Yi GIGy h Yy e B
5.0=10 * 0.56 0.08 2.8%10 * 0.79 0.82
3.8x10 3 0.16 0.21 6.2>10 4 5.16 1.28
h hmax
27h
1-G/G 1 = max 5.2.3(2)b.
° ﬂ 2_ﬂhmax ( )



®

3-2 M
M —-¢ 3-7
1 ¢cr ’ Mcr 2 ¢y ’ M y
5.3.2(2)
5.3.2(1)c.
3-2
2
2
Eo(kN/mm?) v (KN/m?) ho Am) I(m*)
1 25 0.2 24.0 0.05 1.20 0.144
2 25 0.2 392 ! 0.05 1.50 0.281
3 25 0.2 392 1! 0.05 1.50 0.281
4 25 0.2 24.0 0.05 1.20 0.144
5 25 0.2 617 * 0.05 1.20 0.144
6 25 0.2 617 ! 0.05 1.20 0.144
7 25 0.2 340 ? 0.05 1.00 0.083
8 25 0.2 812 2 0.05 1.00 0.083
9 25 0.2 568 ! 0.05 1.50 0.281
1 y/¢=24.0kN/m?
2 10kN/m?
O"" O-Ic = kl . f'cd
M kl flcd H /
A
M, - I, Lo N
| 0.001EI 0.01EI o' =k - flgx—= x(Z— < j
5 o, =E.e, ! d. 0.002 0.002
TR | . - | | ..
( c il c
i 0.1E1 0.4EI i o 0.002 £y
| 1
|
| ! | fu k =1-0003f", 0.85
| 1
, ' v . 155 f' ,
| | o, &'y :W 0.0025 &', 0.0035
1 |
- ! > f'u  N/mm?
O ¢cr ¢y ¢ * v 213 2
f, =0.23f", N/mm
3-7 M 3-8
5.3.2(2)c.
3.2.2(5)
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M /N

M/N

5.3.2(2)b.

40000

5.3.2(2)d.
3-9

M-¢
5.3.2(3)

1/1000
3-3

35000

30000

25000

20000

15000

10000

5000

&, =2000x10"°

-5000

-10000

£, =3500x10°°

M/N

-10000

-0.005

4000

6000 8000 10000

-0.004

-0.003

-0.002

-0.001

0.000

® 1/m

0.001

0.002

0.003

0.004

0.005

-10000 -8000

2000 4000 8000 10000
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*

3-3

e 1m Mg KN m ¢, 1m M, kN m
. 1.47x10 * 529.2 1.94x10 1127.8
1.33x10 * 477.7 1.84x10 910.7
) 1.27x10 * 894.2 1.49x10 1266.9
9.41x10 ° 661.4 1.33x10 664.5
3 1.40x10 * 981.6 1.72x10 3264.3
9.95x10 ° 699.3 1.39x10 1631.0
4 1.96x10 * 705.6 2.34x10 21135
1.08x10 * 389.8 1.67x10 600.3
5 1.49x10 * 537.7 2.00x10 1479.2
1.38x10 * 4955 1.90x10 1250.0
6 1.60x10 * 574.5 2.12x10 2047.3
1.38x10 * 495.2 1.92x10 1518.5
. 1.88x10 * 391.6 2.51x10 1016.6
1.53x10 * 319.0 2.24x10 668.0
o 1.89x10 * 394.2 2.43x10 765.2
1.45x10 * 302.7 2.15x10 4412
o 1.31x10 * 921.6 1.67x10 3410.6
1.10x10 * 774.2 1.48x10 2398.1
a.
2-6
2E
b.
Newmark 3 3=0.25 y=0.5 5.3.3(3)a.
C.
Newton-Raphson 5.3.3(3)b.
d.
1 3.02Hz

12



@
4-1

4-2

4-3

6.5cm
4-4

4-1

@
4-5

4-7

6><107°

4-8

4-1(a) (b)
4-1(c) (@)
107
0.4cm
4-1(d)
4-1
(Gal) 617
(Gal) 538
(Gal) 534
(cm) 0.35
(cm) 6.53
5.94><10 *
(kN/m?) 140.6
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5-1

6.1

5-1

START

NO

YES

|||||||||||||||||||||||||||||||||||||||||

a/d

1%

END

5-1
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5-1

1.0 1.0 1.0 1.3 1.0 1.3
1.0 1.0 1.0 1.0 1.0 1.0
1.0 1.0 1.0
1.0 1.3
1.0 1.0
1.2 1 1.05 ™ 1.05 ™
1.0 1.0 1.0
Yo Y=Y
A% 1.1 1.3 1.1 1.3 6.3.4(2)
1.0 1.5
Yo 6.1.3(2)
*1)
1.0
@
B max ¢y
5-2 |
|
5-2
@
1.0% 1.0% 1.0%
1/100
7R, Ry 1.0 (5-1)
. 7 1.00
Rd ya'R
7. 1.20

22



=AlH

4 (m)
(m
Ry
Ry 1.0 (10000>=<107)
(5-2) (5-5) 6.2.3
01-o,/f!
Ru = Rug +Tid(Ru0 - Rug) (5_2)
R,=K- 0026+0003-i (5-3)
v ' 200
f
Ry, = K| 0.010+0.002-—% (5-4)
200
K =0.84D°%./0.2+0.1— |- — (5-5)
D) H
Ry
R, 0
. 0.1
o N/mm?
f'y N/mm?
fq N/mm?
D m
h m
H m
5-2
1.20 6.1.2(4)

23



5-2

H 13.20 13.20 13.20 13.20 13.20 13.20 13.20 13.20 13.20
h 11.95 11.95 11.95 11.95 11.95 11.95 11.95 11.95 11.95
D m 1.50 1.20 1.20 1.20 1.20 1.20 1.20 1.20 1.50
f7eg N/mm? 18.5 18.5 18.5 18.5 18.5 18.5 18.5 18.5 18.5
fya N/mm? 345 345 345 345 345 345 345 345 345
oy Nimm? 0.08 0.98 0.99 0.98 0.97 0.98 0.97 1.00 1.47
Rud 0.021 0.019 0.019 0.019 0.019 0.019 0.019 0.019 0.012
4 (cm) 6.53 6.53 6.53 6.53 6.53 6.53 6.53 6.53 6.53
Va 1.20 1.20 1.20 1.20 1.20 1.20 1.20 1.20 1.20
H (m) 13.2 13.2 13.2 13.2 13.2 13.2 13.2 13.2 13.2
R 0.0050 | 0.0050 | 0.0050 [ 0.0050 | 0.0050 | 0.0050 | 0.0050 [ 0.0050 | 0.0050
Ra =7,-R 0.0059 | 0.0059 | 0.0059 [ 0.0059 | 0.0059 | 0.0059 | 0.0059 | 0.0059 | 0.0059
7i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
7i*Ri/Ry 0.28 0.31 0.31 0.31 0.31 0.31 0.31 0.31 0.50
OK OK OK OK OK OK OK OK OK
A
: s
H=13.2m !
®
yi 'Vd /Vyd 1.0 (5_6)
7i 1.00
Vy =7a v
7 1.05
\
Vyd
1.05
0.2 0.5
6.3.2(1)

24



a/d
5-1

a/d a/d 5.6
6.3.2(2)

Vg =Veg +Vgq
Vcd

Ve :ﬂd 'ﬁp ’ﬁn - fuea 'bw'd/}/bc

fuea =0.208/ f'ca  N/mm? fia  0.72  N/mm?
By=41/d d m By 1.5
B, =3/100p, B, 1.5
Br=1+My/M; Ny 0 B, 2
=1+2M,/M; Ny © B, 0
N’y
M, M,
Ve 6.1.3(2)
Voe = Vo1 X Vb2
o
Vb2
1.0 (R<0.01)
7v2 =4 (100R+2)/3 (0.01< R <0.025)
15 (R >0.025)
R
bw
d

25

Ba
By

1.30

1.5
1.5

6.3.1

Ba 1.0

fvcd

0.72 N/mm?

¢-7N

(5-8)



o N/mm?

Vi = 1A, - e -(Sina +cosa)/sfz/ y,, (5-9)

fuya 400N/mm?

z d/1.15
Voo 6.1.3(2)

Vs = Vo1 X702
V1 1.10

Vb2
4-5(d)
5-3 D 1/2

D 172 D

5-3

26



750

5-3

mm

1.5m | 1.625m | 1.625m 1.5m
3% -669
- 1 — 280
(kNm) :%‘
2935
D/2=0.75m
. l . |
982 > +
1242
(KN) 1536 1606 1671
D/2=0.75m
o 1761
(kN)
2531
D/2=0.75m
5-4
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5-3(1)

. (cm) 100 100 100 100 100 100 100
(cm) 120 150 120 120 100 100 150
(cm) 110 140 110 110 90 90 140
(cm) 10 10 10 10 10 10 10

S 2865 | 50.67 | 28.65| 50.67 | 28.65| 19.86 | 64.24

L™ 0.26 036 | 026 0.46 0.32 022 0.46

. (c® 397 | 1013 | 397 3.97 397 397 | 1013

L W 0.20 051 | 020 020 0.20 020 | 051
o,  (deg) 90 90 90 90 90 90 90

) 20 20 20 20 20 20 20

S 24 24 24 24 24 24 24
Ve 1.30 1.30 1.30 130 1.30 1.30 1.30

R 18 18 18 18 18 18 18

W (N/mm?) 345 345 345 345 345 345 345
V. 1.00 1.00 1.00 105 1.00 1.00 1.00

S 345 345 345 345 345 345 345
V. 1.05 1.05 1.05 105 1.05 1.05 1.05

. (KNm -345 | -1378 133 | -1520 | -139 | 234 | 1743

T 358 | 1989 427 | 1209 | -108 | 1030 | 1686

L (k) 281 | 1289 162 428 241 291 | 1849

/

) 053 053 | 053 053 053 053 | 053
B, 0.98 0.92 0.98 0.98 1.03 103 | 092
B, 064 | o071] 064 077 0.68 060 | 077
B. 121 136 1.64 116 0.74 173 124
B. 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Voo 130 1.30 1.30 130 1.30 1.30 1.30
Vi 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Voo 130 130 130 130 130 130 130

) 337 507 458 391 190 394 501

(cm) 957 | 1217 95.7 95.7 783 783 | 1217
VoL 1.10 110 1.10 110 1.10 1.10 110
Vo 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Voo 1.10 1.10 1.10 1.10 110 1.10 1.10

) 596 | 1934 596 596 487 487 | 1934

D) 932 | 2441 | 1054 986 677 881 | 2435
v, 1.00 1.00 1.00 1.00 1.00 1.00 1.00
Vi o/ w 0.30 053 | 015 043 0.36 033| 076

OK OK OK OK OK OK OK
0.01 0.01 0.01 0.01 0.01 0.01 0.01
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5-3(2)

) 100 100 100 100 100 100 100
(cm) 120 150 120 120 100 100 150
(cm) 110 140 110 110 90 90 140
(cm) 10 10 10 10 10 10 10

. (e 2865 | 5067 | 28.65| 5067 | 28.65| 1986 | 64.24

. ™ 026| 036| 026| 046| 032] 022] 046

. (c®) 397 | 1013 | 397 3.97 397 | 307 | 1013

G 020 051] 020 020] 020] 020] 051
o,  (deg) 90 90 90 90 90 90 90

. (o) 20 20 20 20 20 20 20

) 24 24 24 24 24 24 24
v. 130 130 130 | 130 | 130 130 1.30

) 18 18 18 18 18 18 18

) 345 345 345 345 345 345 345
v. 1.00 1.00 100 | 100 1.00 1.00 1.00

S 345 345 345 345 345 345 345
v. 1.05 1.05 1.05 1.05 105 1.05 1.05

. (kN m) 603 | 2421 | -168 | 2026 | -133 | 220 | 1321

(k) 386 | 2090 409 | 1216 | -132| 1081 | 1613

L (kN 385 | -1367 | 173 | 452 | 239 | 290 | -1471

/

) 053| 053] 053] 053] 053] 053] 053
B. 098 | 092| 098] 0098 103 103 | 092
B, 064| 071| 064| 077| 068] 060] 077
B, 113 122 1.49 112 | 067 182 131
B. 1.00 1.00 100 | 100 100 1.00 1.00
Vi 130 130 130 | 130 130 130 1.30
Vo 1.00 1.00 100 | 100 100 1.00 1.00
Vie 130 130 130 | 130 130 130 1.30

o (kN 315 453 415 378 172 413 527

(cm) 957 | 1217 | 957 95.7 783 783 | 1217
Vor 1.10 1.10 110 | 110 110 1.10 110
Vo 1.00 1.00 100 | 100 100 1.00 1.00
Vi 1.10 1.10 110 | 110 110 1.10 1.10

w (kN 596 | 1934 596 596 487 487 | 1934

. (KN 910 | 2387 | 1010 973 650 900 | 2461
v 1.00 1.00 100 | 100 100 1.00 1.00
Vi o/ w 042| 057| 017| 046 036] 032] 060

OK OK OK OK OK OK OK
0.01 0.01 0.01 0.01 0.01 0.01 0.01
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6.3.2(2)

a/d
Vyd :Vcd +Vsd
Vcd
Vsd
Vyas = Veas +Veas (5-10)
Vcdd
Vsdd
Vcd
Ve =ﬁd‘ﬂp'ﬂn'ﬂa‘fvcd'bw’dlﬂ/bc (5-11)
ﬂa=0.75+ﬁ Pa 1.0 P 1.0
ald
ald a d
Vsd
Vcdd
Vead = Ba P Pa- faa -bw-d [y (5-12)
fae =0.19{ f'w
By=%1/d d m By 1.5 By 1.5
$, =3/100p, B, 1.5 B, 1.5
5
ﬁa_l+@]df
ald a d
Vsdd

30



Vi =4V, (5-13)

$=-017+0.3(a/d)+0.33/p,, 10
Vw
pm

a 4.9m
5-4

5-5

31



W (cm) 100
(cm) 150
(cm) 140
(cm) 10
s (cm?) 64.24
v (%) 0.46
u (cm?) 10.13
u (%) 0.51
q (deg) 90
s (cm) 20
“a  (N/mm?) 24
Y. 1.30
" (N/mm?) 18
w  (N/mm?) 345
Ys 1.00
wa  (N/mm?) 345
Ya 1.05
¢ (KN m) 1743
e (kN) 1686
d (kN) 1849
/ 3.50
wa  (N/mm?) 0.53
By 0.92
B, 0.77
B 1.24
B. 1.15
Vi 1.30
Vi 1.00
™ 1.30
o (kN) 576
(cm) 121.7
"™ 1.10
Y2 1.00
A\ 1.10
o (kN) 1934
w  (kN) 2510
w  (N/mm?) 0.82
B 0.92
B, 0.77
B. 0.38
Vi 1.30
" 1.00
Y 1.30
wg  (KN) 235
(0] 1.00
i (KN) 1934
vag  (KN) 2169
v (kN) 2510
Vi 1.00
Yi o/ w 0.74
OK
0.01

32



6.3.3(1)

b.
a a D/2 a/2
1.5d &
a
! 5-7
5-6
15m | 1.625m | 1.625m 1.5m
\ \
Rl 734
T ——— -348
(kNm) T
1 -2480
a=1.63m
40 aaT——
) D
: i 2531
a/2=0.815m
5-7
5.3.4(2)b.
5-5
6 D/2
-
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W (cm) 100
(cm) 150
(cm) 140
(cm) 10
s (cm?) 64.24
M (%) 0.46
u (cm?) 10.13
w (%) 0.51
q (deg) 90
s (cm) 20
“a  (N/mm?) 24
Y. 1.30
" (N/mm?) 18
w  (N/mm?) 345
Ys 1.00
wa  (N/mm?) 345
Ya 1.05
s (kN m) 1659
" (kN) 1713
J (kN) 1813
/ 1.16
wa  (N/mm?) 0.53
By 0.92
B, 0.77
B, 1.26
B. 1.95
Vi 1.30
Vi 1.00
™ 1.30
o (kN) 992
(cm) 121.7
"™ 1.10
Y2 1.00
A\ 1.10
o (kN) 1934
w  (kN) 2925
w  (N/mm?) 0.82
B 0.92
B, 0.77
B. 2.12
Vi 1.30
" 1.00
Y 1.30
cad  (kN) 1323
() 0.83
i (KN) 1607
vag  (KN) 2930
v (kN) 2930
Vi 1.00
Yi d / yd 0.62
OK
0.01
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6.3.3(2)

5-8

le

lpl

az

ai

—
—
H
o[>
IT
o[>
N———
E NG

Vi

&
pd
S
a
o
] <
>

P>

\Z

az

P>

P
Pa

Vs

5-8

Ya

B-

1.0

B
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D 172
D/2

$,=40(kN) S,=244(kN)

S,=923(kN)

S,=2531(kN)

iasl:s2 S, LASZ:% S, iASszs4 S,
=205(kN) =679(kN) =1608(kN)

l P, i P, i P,
=215(kN) =713(kN) =1688(kN)
L 2 @ @
]
|
V/,=2556(kN) V,=2724(kN) V;=3664(kN) |
Py ® ®
—
8;=0.75m :
2,=2.375m !
3,=4.00m i
5-9
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€Y
u (cm) 100
(cm) 150
(cm) 140
(cm) 10
s (cm?) 64.24
M (%) 0.46
M (cm?) 10.13
" %) 0.51
[e & (deg) 90
S (cm) 20
" (N/mm?) 24
Ye 13
" (N/mm?) 18.5
Ky (N/mm?) 345
Ys 1.0
wyd (N/mm?) 345
Ya 1.05
4 (kN _m) 3080
" (kN) 1751
veds  ag (N/mm?) 0.529 0.816
B, 0.919 0.919
B, 0.771 0.771
B. 1.142
ybc 13 13
od (kN) 461.0 623.4
(cm) 121.7 121.7
Yis 1.1 1.1
d (kN) 1933.9 1933.9
(b) ©
m AS (kN P (kN
™ ™ S (kN) (m) (kN) (kN)
1 0.000,
1.500 0.750 40
2 1.500 205) 215
1.625) 2.313 244
3 3.125 679 713
1.625 3.938 923
4 4.750 1608 1688
1.500 5.500 2531
5 6.250,
(d)
a a/d
(m) B: |Va kN |Vy kN B: |V kN @ Vye kN |Vy kN Pi/ Vi
1 5.500 3.929
2 4.000 2.857 1.240 572 2506 0.546 340 1.000 2274 2506 0.086
3 2.375 1.696 1.575 726 2660 1.289 804 0.990 2719 2719 0.262
4 0.750 0.536 3.363 1551 3484 3.885 2422 0.642 3664 3664 0.461
5 -0.750 -0.536
YiZPi/ Vi 0.81
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6.3.4

Yo Yoo Yi Ya o 1.3><1.0>=1.0><1.05>< 1.37

17

<€— 389kN
1 ]
1344kN 403KN =»—— 175kN =
i =T
A A A 1
54kN  281kN 930kN 2203kN

5-10
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5-12

5-11

5-13

5-14

1.5 (cm)

0

5-11

N~ —F-

N~ ~-

NN S

5-12
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(kNm)

(kN)

(kN)

7000
6000
5000
g 4000
3000
2000

1000

5-13

8000
7000
6000
5000
4000 |
3000
2000
1000 -

4000

(cm)

3500
3000
2500
2000
1500
1000

500

05

(cm)

35

7000
6000
5000
4000
3000
2000
1000

5-14

05

(cm)

40
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1-1

As

S,

S

41

5.4.1

1-1



@
2
8.4m>< 4.5m 3.3m>=<3.3m
@
a.
2-1
8,400
600, ., 3,300 600, 3,300 ,, |600
i 1
mm
2-1
b.
2-2
D A A
cm cm? cm?
1 60 D19@150 19.1 D16@150 Ss=200 13.3
2 60 D19@150 19.1 D16@150 Ss=200 13.3
3 60 D19@150 19.1 D16@150 Ss=200 13.3 100cm
_
4 60 D19@150 19.1 D16@150 Ss=200 13.3 £
g
B As g
g
£ As [a)
s
2-2
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2-1
2-1
o 24 N/mm?
E. 25 kN/mm?
f,i | 345 N/mm?
2 SD345 ' | 345 N/mm?
E, 200 kN/mm?
1 JISA5308
2 JISG3112
®
a.
2-3 E.L+10.0m E.L 5.0m
b.
E.L=+0.0m
10.0m
gi0.0m
5.0m '
2-3
C.
2-4 GIGy,—-y h-y 2-5
4 9
1
1
5.2.3(4)
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s
v v Vs Go ho
100m | KNM) (misec) (kN/m?) %)
180 040 300 165,000 20
i =+ 0.0m
20.0 048 300 184,000 20
5.0m
7007077
20.0 033 700 1,000,000 20
10.0m
2-4
1.0 ® ] = N l 0 3 0.30
< 0.8 [m] 0.25
(&)
0.6
0.15
0.4 ]
0.10
0.2 L 0.05
a
a ]
0.0 U m] [m] ? ‘ ® .00
0.000001 0.00001 0.0001 0.001 0.01 0.1
Y
2-5 G/G, Y h vy
®
a.
2-6
1/2
:600(gal) :-600(gal)
600
400t l l V
S 200t}
0 JH\W\LM ||} ” “'H, 'M | \'l y‘ \\m. \,WLH L ”\” I ‘Wll\wl‘|L“11M[M"” P
ol I“ Lt H’\ PRI
-400
_6000 10 20
(sec)
2-6
b.

10kN/m

4.2.3(3)



START

<~ &

YES
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NO

5.1.2




€Y)

8 2
5.4.2(2)a. 5.1.1(4)
3-1
1/5
5.4.2(2)a.
5.4.2(2)b.
5.4.4(2)
5.4.2(4)
145.8m 8.4m 145.8m
R
- -
1S
S
S
8|z ] -
8 - 22022 ;
v [T -
e ——— ==
il — \ — i — \ — s ‘/ N
IXOXCX(
[ L L IXOXCOX(
L L p ;j:\\‘ \Qﬂ A
HH — \ — HH — \ \ \\:77// '
e ——— e ——— ) i’
X
3-2
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@

2-4 2-5
Ramberg-0sgood R-0
3-3 a,p
5.2.1
3-4
3.5%<10 3
T " o Go}’
A Go T B
1.0+ a|—
L ." Tt
Ve
a=—-1 7y =71 1Gy
y 7y
27h
ol ¥ Yi 3% f=———T
21-G/G,)—h
3-3 R-0
(m) 00 %00 600.0 900 (gal) 0.0 1.00 2.00 3.00 (cm) 0.00 1.00(%)
0.0 00 0.0 0.0
20 / 2.0 2.0
4.0 40 4.0
/ / |
6.0 6.0 6.0 |
’ 8.0 8.0 8.0
10,0 10.0 10.0 10.0
11.1 111 11.1 |
’ 13.0 13.0 13.0 |
15.0 15.0 15.0 15.0
16.7 16.7 16.7
1 18.3 18.3 18.3
20.0— 20.0 20.0 — — 20.0
- =846(gal) =568(gal) =2.46(cm) =0.00(cm) =0.346(%) =0.011(%)
(m) (m) (m)
3-4
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1.0 p—y— i | - 2,0.30
& 0.8 : 0.25
< 20 <
0.6
.15
0.4
.10
0-2 L - -05 |0
0.0 .00 R-0
0.000001  0.00001 0.0001 0.001 1\ 0.01 0.1 A
Y
v = 3.5%107°
@ G6/6, Yy h vy
200 -
i
0 0.001 0.002 0.003 0.004 0.005
Y
me--
—_— R0 v = 3.5%107
o T vy
3-5 R-0
3-1 R-0
Vi GIGo h % o B
2.1%<10 ® 0.27 0.17 54210 * 2.87 1.22
35x10 3 0.17 0.20 5.96>10 * 4.87 1.27
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3-5(a) Ve R-0 G/G,
a R-0 h »
a 3-5(b)
Vs Ty R-0
R-0
3-1
3-2
3-2
D cm ¢ cm v 7 (kN/m?) f'. N/mm? ' N/mm?
1 60 10 0.167 24 24 1.91
2 60 10 0.167 24 24 191
3 60 10 0.167 24 24 1.91
4 60 10 0.167 34.1 24 191
5.4.1(2)b.
3-6
flc Epeak
Epeakc =140, T s (Kgf 7cm2) x106 = 447.2,/T's (N/mm2) x10-6
gpeak
f
3-6(b) c 0.4

o= f; (gtu /St)c

oy (N/mm?)
f, (N/mm?)

S

&

c
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3-6(a)

3-1



3-2

‘ Ot &u, Tt
f'e O = f'(gm/g!)c
&t
0
0 E‘peak -
@ (b)
3-6
Eu fl gpeak
fo'
£y =26,/ E, = fugp | T, (£102.9F°x10°)
&
f; (N/mm?)
fe' (N/mm?)
gpeak
E. (N/mm?)
*)
a.
@
G.L-20.0m E
F E+F
b.
Newmark 3 3=0.36,y~0.70 5.4.3(2)b.
C.
Newton-Raphson 5.4.3(2)b.
d.
5.4.3(2)c.
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@
4-1
4-2(b)
1.2cm
4-3
3.9%1073
4-1
4-1
(Gal) 697
(Gal) 640
(Gal) 710
(cm) 3.12
(cm) 1.15
3.9=<10 3
(kN/m?) 113
@
4-4
4-5
4-6
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4-2(a)



gal

gal

gal

750

500

250

-250

-500

-750

750

750

e TN

A R AL

5 10 15 20 25 30

4.0
3.0
2.0
1.0
0.0
-10
-20
-30
-4.0

cm

3.0

2.0

cm

1.0
0.0
-10
-20

-3.0
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il nwm'\ f
I
5 10 15 20 25 30
sec
(@)
" mUﬂu AVMU UhU'\/‘VJVJ LH\UM“J\Un { rA W) JW A ba W UMWHUMU""’MWHV‘ Moot
5 10 15 20 25 30
sec

()
4-2



60

40

20

T(KN/m?)

-60
-0.0006

-0.0004

-0.0002

0

0.0002 0.0004 0.0006

150

100

50

T(kN/m?)

-50

-100

-150
-0.006

-0.004

-0.002

0 0.002 0.004 0.006

150

100

50

T(kN/m?)

0

-50

-100

-150
-0.006

-0.004

-0.002

0 0.002 0.004 0.006

150

100

50

T(kN/m?)

-50

-100

-150
-0.006

-0.004

-0.002

0 0.002 0.004 0.006
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(@)
0 1000 kN m
[ E— m— | 7 1
]
% 748
—1 N I
(b)

4-4

660

0 2000 kN

[EE—

L] l L]

L] 1240

] oo

L] l [ ] L] | ‘ [ ]
(© 2

0 2000 KN
[ s e oy i e I

| ]

1

L]

934

54

098

)



654 %

(@)
0 1000 kN m
S Y S
SN I |

746

I e SR —
]

(b)
4-5

7 888

1070
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T I s s I M B

(© g

0 2000 KN

[ [ B S

C

1 495 893
. |

(@ i

4.64sec



M kNm

N kN

kN

1200
900
600
300

-300
-600
-900
-1200

1200
900
600
300

-300
-600
-900
-1200

1200
900
600
300

-300
-600
-900
-1200

0 5 10 15 20 25 30
sec

0 5 10 15 20 25 30
sec

m IW‘ ‘ \NWWWWWMW«W

0 5 10 15 20 25 30

sec
4-6

M kNm

N kN

KN
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1200
900
600
300

-300
-600
-900
-1200

1200
900
600
300

-300
-600
-900
-1200

1200
900
600
300

-300
-600
-900
-1200




6.3(1)

6.1

5-1

START

NO

YES

a/d

y
l

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

1%

END

5-1
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5-1

1.0 1.0 1.0 1.3 1.0 1.3
1.0 1.0 1.0 1.0 1.0 1.0
1.0 1.0 1.0
1.0 1.3
1.0 1.0
1.2 1 1.05 ™ 1.05 ™
1.0 1.0 1.0
Yo Yu>XVYh
1.3 1.3
Y1 1.1 1.1 6.3.4(2)
1.0 1.5
Y2 6.1.3(2)
*1)
1.0
@
5-2 )
>3
2.0%10 @ (b)
2.0><10 ¢
©
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@



=

@

5.4.4(2)

6.2.2
5-5

0.0
2.0<10"
2.0<10°

2.0x<10™
2.0x10°
1.0%<107?

@

1.8x=<10 3

-1.0>10?
-3.5><10°
-2.0><10% 0.0

-3.5>10"
-2.0><10°

®
[ 1 S [ [
\ ] - \ I
AR 1 B \ PR
[ 1 - [ 1
\ 1 - \ -
\ 1 I \ ol
©
5-2
5-4
2
7. 1.20
1.0 10000><10 °©
3x<3
5-3
0.7><10 3
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5-3




0.003

0002

L (LWRHMM

0 WAUWU UUU‘V’*\/\N i VWWIUH UWIU Uﬁwnm.ul'r\wﬂuww 'whwﬂvwhwﬂmluw A
-0.001
-0.002
-0.003
0 5 10 15 20 25 30
5-3
T —— I
—1— I — i " N
B BRI X
] 7] X
Lo | B
) ~1 4 ! 111 ¢ >
—— —— 1
I — I — \ X
2 —_
5-4
5-2
£ 8.5><10 *
Va 1.20
&y =Y. € 1.0><10 ®
, 1.0><10 2
i 1.00
Vi €qlé, 0.10
OK
20
15
10
NE 5
2 . ‘7
5
-10 /
_15
-20
-0.003 -0.002 -0.001 0 0.001 0.002 0.003
5-5
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6.2.4

17100
7i-Ry Ry 1.0
s Vi 1.00
Rd Va: R
Va 1.20
=A/H
4 (m)
(m
Ry 17100
0.004
0.003
0.002
0.001 |
0
-0.001
-0.002
-0.003
-0.004
0 5 10 15 20
5-6
5-3
A (cm) 1.15
H (m) 3.9
R 0.0029
Ya 1.20
R« =y,-R 0.0035
Ry 0.01
" 1.00
7i-Re/R, 0.35
OK

5-7
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25 30

0.0029
7. 1.20

(oY)

H=3.9m




2000
1500
1000
- 500
0
-500
-1000
-1500
-2000
-15 -1 -05 0 0.5 1 15
5-7
5-8
3.9 0.1cm
0.15
e 01
0.05
0 I I
-0.05 |
-01
-0.15
0 5 10 15 20 25 30
sec
5-8
€)
7/i .Vd /Vyd 1.0 (5_2)
7 1.00
Vd Va .V
Va 1.05
V
Vyd
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yd

350

63

mm

5-4



5-4(1)

. (cm) 100 100 100 100
(cm) 60 60 60 60
(cm) 50 50 50 50
(cm) 10 10 10 10

. (cm) 1910 | 190 | 1910 | 19.10

) 0.38 038 | 038| 038

. (c® 1330 | 1330 | 1330 | 13.30

) 0.67 0.67 067 | 067
o, (deg) 90 90 90 90

. (cm) 20 20 20 20

o (N/md) 24 24 24 24
Y. 1.30 1.30 1.30 1.30

o (N/mn?) 18 18 18 18

o (N/mn?) 345 345 345 345
V2 1.00 1.00 1.00 1.00

wa (N/m2) 345 345 345 345
V. 1.05 1.05 1.05 1.05

. (kN m) 493 655 518 436

L (kN) 788 | 1137 795 720

L (k) 912 520 785 401

/

s (N/m2) 053 053| 053] 053
B, 119 119 119 119
B, 0.73 073| 073] 073
B, 116 117 115 117
B. 1.00 1.00 1.00 1.00
Yo 1.30 1.30 1.30 1.30
Yo 1.00 1.00 1.00 1.00
Yoo 1.30 1.30 1.30 1.30

W (KN 203 206 202 204

(cm) 435 | 435| 435| 435
Yo 110 1.10 1.10 1.10
Yo 1.00 1.00 1.00 1.00
Vs 1.10 1.10 1.10 1.10

W (KN 907 907 907 907

D) 1110 | 1113 | 1109 | 1111
v, 1.00 1.00 1.00 1.00
Vi o/ w 0.82 047 071 036

OK OK OK OK
0.01 0.01 0.01 0.01
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5-4(2)

. (cm) 100 100 100 100
(cm) 60 60 60 60
(cm) 50 50 50 50
(cm) 10 10 10 10

. (cm) 1910 | 190 | 1910 | 19.10

) 0.38 038 | 038| 038

. (c® 1330 | 1330 | 1330 | 13.30

) 0.67 0.67 067 | 067
o, (deg) 90 90 90 90

. (cm) 20 20 20 20

o (N/md) 24 24 24 24
Y. 1.30 1.30 1.30 1.30

o (N/mn?) 18 18 18 18

o (N/mn?) 345 345 345 345
V2 1.00 1.00 1.00 1.00

wa (N/m2) 345 345 345 345
V. 1.05 1.05 1.05 1.05

. (kN m) 481 | 610 | -439| -374

L (kN) 793 | 1136 481 | 1005

L (k) 932 | 513 | -353 | -810

/

s (N/mm?) 053 053| 053] 053
B, 119 119 119 119
B, 0.73 073| 073] 073
B, 116 119 111 127
B. 1.00 1.00 1.00 1.00
Yo 1.30 1.30 1.30 1.30
Yo 1.00 1.00 1.00 1.00
Yoo 1.30 1.30 1.30 1.30

W (kN) 204 208 195 223

(cm) 435 | 435| 435| 435
Yo 110 1.10 1.10 1.10
Yo 1.00 1.00 1.00 1.00
Vs 1.10 1.10 1.10 1.10

W (KN 907 907 907 907

D) 1111 | 1115 | 1101 | 1129
v, 1.00 1.00 1.00 1.00
Vi o/ w 084| 046| 032] 072

OK OK OK OK
0.01 0.01 0.01 0.01
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5.3.1

1-1

As

S,

S

67

1-1



@
2
8.4m>< 4.5m 3.3m>=<3.3m
@
a.
2-1
8,400
600, ., 3,300 600, 3,300 ,, |600
i 1
mm
2-1
b.
2-2
D A A
cm cm? cm?
1 60 D19@150 19.1 D16@150 Ss=200 13.3
2 60 D19@150 19.1 D16@150 Ss=200 13.3
3 60 D19@150 19.1 D16@150 Ss=200 13.3 100cm
_
4 60 D19@150 19.1 D16@150 Ss=200 13.3 £
g
B As g
g
£ As [a)
s
2-2
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2-1
2-1
[ 24 N/mm?
1
E. 25 kN/mm?
f | 345 N/mm?
2 SD345 'y | 345 N/mm?
E, 200 kN/mm?
1 JISA5308
2 JISG3112
©)
a.
2-3 E.L+10.0m E.L 5.0m
60
b.
E.L=20.0m
10.0m
K RN
e /
Vs 100(m/sec) Vs 300(m/sec)
/=0.0m
A
2.0m Vs 700(m/sec)
2-3
C.
2-4 GIG,-y h-y 2-5
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S
v v Vs Gy hy
10.0m (kN/m?) (m/sec) (KN/m?) (%)
18.0 0.40 100 18,000 2.0
=+ 0.0m
20.0 048 100 20,000 20
5.0m
20.0 033 700 1,000,000 20
10.0m
2-4
1.0 ® B 0.30
u . l o o
° 0.8 m} 0.25
<
S | | [} 0.20 <
0.6
0.15
0.4 ]
0.10
0.2 0 L 0.05
]
a ]
0.0 U m] o ? ‘ ® .00
0.000001 0.00001 0.0001 0.001 0.01 0.1
Y
2-5 G/G, Yy h vy
®
a.
2-6 4.2.3(3)

3.00(s’)

(mis?)

@ (b)
2-6

10kN/m
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3-1 5.1.2

START

v
v
v
NO
YES
v
>
YES
END
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3.1

@
5.3.2(1)b.
1/5
3-2 5.3.3(2)a.
2.0m 2.0m
_ 54.10m . VY.SOnL V8.66m\v 45.44m .
19’\\ T ﬂr\ﬂur 1 - T /L’H
Elp | i | | “
g S E Vs 100m/sec Vs 300m/sec <
SIS e e e M) e <
gxa‘b ==—c=—c=———C=t=x i <
€
<
5
3-2
@
Ko 0.5 0.33 4.2.3(1)e.
Y w 7 sat -1 7 sat
©))
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3.2

@
5.1.1(4)
Mohr-Coulomb
5.3.2(4) 3-3
2.0m 2.0m
U 54.10m N V7.80m V8.66m 45.44m o
’\ I I /1 ’\ I T ’\ T T T /1
E ! i ! !
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=1.0x0.503+0.00270 x 0.05 x 200
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cy)
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Co=13.0kg/m’
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(6.5-1)
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(6.5-5)
Yo =1.3
6.5-1
(3.1-7)
(3.1-8)
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yi=1.1
(3.1-9)
(6.5-6)  (6.5-10)
(Dy 0.514cm¥/ ) (c
6.5-1
Cl,
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3.2-1
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Vim (6.5-12) (6.5-15)
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Vi = %(2.59 ~0.05x15—6.89 x0.25— 22.87 x0.20— 0.89 x Cl,, +0.14 x15x 0.25+ 0.51x15x 0.20

+0.01x15xCl,, +60.81x0.25x0.20 + 3.01x0.25x Cl,, + 6.55x0.20x Cl,,) (3.2-4)
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Cl,( 3.2-1 ) 1.2kg/m?
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